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This paper consists of 12 pages, as well as tables A and B

PLEASE NOTE:

1

This paper consists of THREE (3) questions, as well as the following tables
() Table A - Present value of R1 after n years
(n) Table B - Present value of R1 per annum for n years

2 All guestions must be answered
3  Basic workings, where applicable, must be shown
4  Ensure that you are handed the correct examination script (blue) by the invigilator
5 EACH QUESTION MUST COMMENCE ON A SEPARATE PAGE
6 A combined final mark of 50% 1s required to pass this module The final mark 1s calculated
as follows (10% of the average mark obtained for the first three assignments) + (90% of
mark obtained in this examination) The year-mark wil only be taken into account if a
subminimum of 40% 1s obtained for this examination
PROPOSED TIMETABLE
Question Topic Marks Minutes
1A Ratio analysis 20 24
1B Weighted Average Cost of Capital (WACC) 20 24
1C Capital budgeting 25 30
1D Sources of funding 5 6
2 Working capital 15 18
3 Short questions 15 18
100 120
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QUESTION 1 (70 marks, 84 minutes)

This question consists of part A to part D
PART A (20 marks; 24 minutes)
Fast and Furious Transport {Pty) Ltd

Fast and Furious Transport (Pty) Ltd I1s a transport company that specialises m the transport of
retall products for retallers

The following financial information 1s available for Fast and Furious Transport (Pty) Ltd

Statement of financial position at 31 December 2x13

2x13

R'000
Assets
Non-current assets 387 614
Property, plant and equipment 304 519
Goodwill 2157
Investments 1n associates 5408
Other financial assets 75 530
Current assets 349 563
Inventory 169 694
Trade and other receivables 168 085
Prepayments 1512
Cash and cash equivalents 10 272
Total Assets 737 177
Equity and Liabilities
Total equity 349 138
Ordinary share capital (1 000 000 ordinary shares) 75000
Non distributable reserve 53 095
Retained income 221 043
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QUESTION 1 (continued)
Statement of financial position at 31 December 2x13 (continued)
2x13
R'000
Total habihities 388 039
Non-current iabilities 144 938
Long term loans 89 1586
Debentures 15 000
Preference shares (500 000 preference shares) 25000
Deferred tax 15782
Current labilities 243 101
Trade payables 187 071
Other payables 29 610
SARS 26 420
Total equity and habilities 737 177

Statement of profit or loss and other comprehensive income for the year ended
31 December 2x13

2x13

R'000
Turnover 1149 808
Cost of sales (287 658)
Gross profit 862 150
Operating cost (740 566)
Operating profit before other iIncome, interest and tax 121 584
Other income 7510
Earnings before interest and tax 129 094
Finance cost (13 628)
Earnings after interest before tax 115 466
Income tax expense (33 918)
Profit for the year 81 550
Operating profit includes depreciation totalling 18730
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QUESTION 1 (continued)
Additional information
o In the previous financial year the company decided to issue an additional 200 000

ordinary shares to improve the debt to equity ratio

. The company 1s also monitoring the debt to equity ratio closely as the interest rates on
debt 1s the lowest in the past five years

» The "Economist” published an article where they predict that the bank lending rate will
increase n early 2x14

* The following are industry averages

Current ratic 2 1
ACID ratio 11
Debt ratro 45%
Debt to equity ratio 67%
Interest cover (TIE) 7,5
Gearing ratio 40%
Return on assets 17,25%
Return on operating assets 18,75%
Net profit percentage 15%
Gross profit percentage 70%
REQUIRED.

(@ Calculate the following ratios for Fast and Furious Transport (Pty) Ltd for the year 2x13
(Round your answer to the nearest two decimal places )
{1} debt management ratios

(1) gearng ratio (14)

(b) Comment on the significance of the ratios calculated in (a) in comparison to the averages
for the industry (6)

[20]
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QUESTION 1 {continued)

PART B (20 marks; 24 minutes)

Fast and Funious Transport (Pty) Ltd

Use the same set of financial information as set out in PART A and consider the
foliowing additional information.

Additional information

Current capital structure-

Ordinary shares currently trade at a market value of R400 each, and cost of equity i1s 20%

The preference shares have no converston rights and carry a dividend pay-out of 11%

Similar preference shares are currently trading at 10%

The debentures mature In 5 years’ time at a premium of 10% The debentures carry an
interest rate of 12 5% Similar debentures are trading at 11 11% before tax

The long term loan matures in 8 years’ tme and carnies an interest of 15% The current
long-term interest rate for a similar loan is 16 67%

Trade creditors are normally paid in full within the normal credit period without any interest
being paid or discount received Short-term credit 1s not part of the long-term financing
structure of the company

The bank overdraft rate 1s 18%

The current tax rate 1s 28%

REQUIRED-

Calculate the weighted average cost of capital (WACC) based on the current capital
structure for 2x13 based on market values

(Round your calculations and answer to the nearest rand and full percentage )
(20}
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QUESTION 1 (continued)

PART C (25 marks; 30 minutes)
Fast and Furious Transport (Pty} Ltd

The management team has decided to expand their current service offering into the public
transport sector With the new toll fees that will be charged, less people will be able to afford the
trip 1n therr private vehicles between Pretoria and Johannesburg Many pecople can also not
afford the Gautrain fees and there are very few alternatives

The operational manager I1s currently investigating two mutually exclusive investment
possibilities

Project A Purchase 100 new 65 seater buses at a cost of R85 000 000

Project B Purchase 100 second hand 65 seater buses at a cost of R49 750 000

The table below includes more information relating to the two projects

Project A Project B

Current tax value R100 0CO R48 000 000
Cost price R85 000 000 R49 750 000
Realisable value after 5 years R15 000 000

Realisable value after 3 years R9 500 000
Working capital in year 1 R100 000 R80 000
Income from buses R64 500 000 R&64 500 000
Fixed cost per annum R20 000 000 R20 000 000
Varable cost per annum R15 000 000 R21 000 000
Net present value ? RS07 880

Additional information

. Depreciation 1s not included in the fixed cost SARS allows for wear and tear over five
years on new vehicles and three years on the used vehicles
. You can assume that the WACC for this project 1s equal to 18%

. The current tax rate 1s 28%
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QUESTION 1 (continued)

General information

The new buses were manufactured based on newer technology and only uses diesel of 50ppm

or lower to minimise the CO, emissions

The company is currently looking at effective ways to manage its carbon footprint that directly
impacts their reputational risk Sustainable investments are a big strategic focus point for the
directors in the next four years

REQUIRED:

Prepare a memorandum where you advise management

(@)

(b)
©)

(d)

Whether they should invest in any of these two projects by making use of the net present
value (NPV) calculation (show your workings) (10)

Which project they should invest in if applicable (show your workings) {4)

Discuss some qualitative and environmental impact factors that management should
consider when they make their investment decision (7)

Discuss some of the shortcomings when using the NPV method for capital budgeting  (4)

[25]
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QUESTION 1 {continued)

PART D (5 marks; 6 minutes)
Fast and Furious Transport (Pty) Ltd

Consider the following two financing options for the capital expansion as discussed in PART C
of the question

(1)  19% Convertible preference shares

(2) Bonds with a coupon rate of 16%

REQUIRED:

Discuss which financing option you would recommend to management and why you choose the
specific option

©)
[70]
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QUESTICN 2 (15 marks; 18 minutes)

[zak Plumbers (Pty) Ltd

lzak Plumbers (Pty} Ltd 1s a company that distributes plumbing parts to industrial developers
The following information relates to the current and other aspects of the company's business

Sales and receivables

()  Sales for the year amounted to R15 750 000

() A 2% discount was offered to debtors that paid within 10 days

(m) Bad debt provision for the current year amounted to 3% of credit saies

(v)  Currently, 40% of debtors pay within 10 days, while the remaining debtors take 30 days on
average to settle their accounts

As many of the clients cannot afford to settle their accounts within the credit terms due to the
current economic circumstances, the company decided to make changes to the current credit
policy The financial manager proposes to grant credit on 5/10 (5% discount for payment within
10 days) net 45 basis in future The financial manager anticipates that 70% of current debtors
will now make use of this option, whilst the remaining current debtors will pay within 45 days on

average Bad debt provision for existing customers will remain the same

The following assumptions were also included in the proposal

0] Sales will increase with R1 500 000 due to new customers

()  65% of new customers will pay within the discount period, while the remaining new
customers wili pay within 60 days

(m)  The increase In sales Is expected to result in a R950 000 increase In inventory, and trade
payables are likely to increase with R500 000

(v) Bad debt will increase with R50 000 as a result of the new sales

[TURN OVER]
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QUESTION 2 (continued)

Purchases and payables

Izak Plumbers (Pty) Ltd purchases inventory in terms of a 3/10 net 30 days policy The company

does not pay within 10 days and therefore does not recelve any discount Management 1s of the

optnion that they will not make use of the discount and that they should consider to delay the

payment of creditors even further by only paying within 45 days in order to finance any

additional working capital requirements

General information

All sales are on credit

The contnbution ratio 1s determined at 35%

The applicable tax rate 1s 28%, and WACC 1s equal to 20%
Assume there are 365 days In a year

REQUIRED.

(a)

Determine the impact of the new credit policy on the company's profitability and comment
whether the company should accept the new credit policy by means of the annual after-tax
cash flow calculattons (10)

Calculate the effective cost of creditor financing if you accept the proposal by
management in the following circumstances

(n  the current payment practice stays intact, and

() the payment s delayed to 45 days (5)

[135]
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QUESTION 3 (15 marks; 18 minutes)

This question consists of three questions, each question must be considered
independently

31 The following information 1s avallable in the South African currency market on
30 November 20X3

ZAR/E1
Spot rate R16,5404/£
South African (borrowing) interest rate 9,0 % per annum
Urited Kingdom (borrowing) interest rate 1,5 % per annum
South African inflation rate 6,8% per annum
United Kingdom inflation rate 2,5% per annum

Assume there are 360 days in a year

REQUIRED

(@) Use the interest rate panty principle to determine the 90-day forward rate (Round your
answer to the nearest four decimals ) (4)

(b) Use the purchasing power panty theory and determine the forward rate for
30 November 20X5 (Round your answer to the nearest four decimais ) 4)

32 Chiefs Ltd's shares are currently trading at R125 each The company proposes a net cash
dividend of R2,75 per share held or scrnip dividends fo all shareholders holding 100 shares
or more on the basis of 2,5 shares for every R275 of cash dividends or 100 shares held

Fractions of shares will be converted to cash credits held on behalf of shareholders

If a shareholder holds 5 500 shares in Chiefs Ltd, how many shares wilt he or she be
entitled to if he or she chooses the option of scrip dividends instead of a cash dividend?

3)

11
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QUESTION 3 (continued)

33 Bnan successfully tendered for R2 500 000 in treasury bills on 29/10/2013 The price of
his investment was R2 400 000 Market discount rates over the 91 day period to maturity

were as follows

29/10/2013 15,45%
29/11/2013 17,30%
29/12/2013 18,90%

Assume there are 365 days in a year

REQUIRED
Calculate the effective yield of the investment if Brian holds the investment until matunty
4)

{19]

12
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